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Fourth Semester B.E. Degree Exami
Mechanisms and

in6sqrF'"**' 
I

F F=2000N
AD = 2l5mm
Afi :200mm
BC = 370mm
DC = 350mm
CE = l00mm

* E Fig Qa(a)
=,;.,,,.-,.I 

.

b. Explain the cod.dition for the equilibrium ofthe following system
i) Two force-riiember ii) Three force member.
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Module-3 .- ,{; fr"='*

Two mating involute ,p'* g.it and 20o pressure an$e,'[rave a gear ratro at 
-2'.The 

number of

teeth on the pinion ir iO uI"O it speed is ZS0rpm,,fge::o-rodrrle of the teeth is l2mm' If the

addendum on each wheel is such thut tt. path-i*ipibach and the path or lecon on each side

are half the maximum possible length. Deterrfiilm-'I 
;i,

i) The addendum for pinion and gear 
iuq,,,,"*,,, 

" .,
ii) Length of arc at contact

iily Hrfuil*um velocity of sliding dur&#iiproach and recon 
,n 

" (10 Marks)

*"1=)o* ^;'. 6 i
Fig e6(a) shown an epicycli. gfu ti" which consists of,,frrt-arnular gear D having interval

t.Jtfrl a .o-poura g"L B-C1m* sun gear A and the arq E- The compound gear B-C is an

known as plane g.# ut,"n- geui -or.i around sun..gjar A' fne sun gear A and annular gear

D are C-axial one sha-ffjffi*einnected to sun gear a{td' ther shaft is connected to the arm'

These two shafts *6frfu'ro-axia1. The sun gear;A meshes with compound gear C and

annutar gear D rAurg6$it! r9Tq9Td geal n..fdb gear A, B and C are having 60,40 and

is e*tef,ur teetrr,kiiftctively. r-riultrg gr.r;pr: th3.sam3 module, find the number of teeth

on the fixed arffiigear o. Also find Uri$.a of the shaft connected to arm, if the speed

of the shafttofucted to the sun gear A ib100rpm'
,_,,,,.\,.,..d -.,ffir.
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b. Explain Simple'""dnd compound gedlt' in with neat s\qch (06 Marks)
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u,)
Module-4

a. rrre #ffis Mr : 100Kg,gM6='17511g, 1a, = 2qpKg and Ma : 125Kg are fixed to the crank

,r"rl i.l u"J + with im&ect 1 are 75', lt#'.md240' taken in the square scene. Distance of
','if" pfu, i 2., i and 4 t"om f are 600mm, t8OO and 2400mm. Determine the magnitude and

forition of ihe bQ, mass at rqdius,tbf 600 (1ix hundred)mm in plane L and M located in
-tt. 

*iddt. o_fi*,.lffi2 and in the.piddle of 3 and 4 respectively. (16 Marks)

b. Explain Ur.'te.$V- rtic and Dynafoia,balancing- (04 Marks)
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a. The following data refer'to a single cylinder engine. Speed = 250rpm, stroke : 350mm mass

of reciprocat ; ;a11&i&, rnirr of revolving part at 175mm iadius is 40Kg. lf 213'd of
reciprocating patts aq.d ati ttre revolving parts are to be balanced. Find :

1) Balancing#s required at 400mm radius

ii) Residual.1ffffijflanoed force when the crank has rotated 60o from Top dead center.

,ir (08 Marks)
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b. In four

9a.
b.

turn rn co10 a. ExPlain

b. Ina
l2Omrn The ball arm and sleede arm of the bell are

each ball is 2Kg. If the at the two
r) Load on the sPri lower and

are 400
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Derive an expression for the treiffiffispeed or porter govffi (10 J

The arm at a porter go**offi&@00mm long. The ffiryYfrm are pivoted 9n e

rotation. The lower *--r u;Affi.-fred to a slewe of diffie of 40mm from the,,z

r;;;il;. The mass of the 6ffin the sleeve is 70gg ed the mass of each ball is

Determine the equilibt,*r,'"SrT;';il'-tht tuaiuqffi"'tation of the ball is 200mm'

friction is equivaien."tm.nibuA at 20N at the sfeffihat will be the range at speed :
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